Model Airflow m*/h (1/s)
40 50 75 100 125 150 200 300 400 500 600 700 800 900
A m?] (1) (14) 1) (28) (35) (2) (56) (83) (1) | (139) | (167) | (19) | (222) | (250)
[ 29 35 6
KLS 15LOTS L=600 Ver 22 28 41
(0,0051) ant 19 31 69
102 18 29 s
[ <20 23 3 2 )
KLS 15LOTS L=1000 Ve 13 17 25 33 a1
(0,0085) apt 7 1 25 a4 69
102 06 12 31 49 65
Lun <20 <20 29 37 3 a8
KLS 15LOTS L=1200 Vs 11 14 21 28 35 41
(0,010) apt H 8 17 31 48 69
102 03 08 23 21 57 71
[ <20 2 32 38 a3
KLS 15LOTS L=1500 Ver 11 17 22 28 33
(0,0127) apt 5 1 20 3 s
102 04 15 3 46 6
[ <20 2 32 37 5
KLS 15LOTS L=2000 Ve 12 17 21 25 33
(0,0169) apt 6 1 17 2 a
102 07 17 3 448 7
[ <20 20 31 39 45
KLS 2 SLOTS L=600 Ve 11 14 21 28 35
(0,0099) apt H 8 17 30 a7
102 08 15 31 46 57
™ <20 2 32 37 5
KLS 2 5LOTS L=1000 Ve 13 17 21 25 34
(0,0165) ant 6 1 17 2 a3
102 15 28 4 52 7.1
[ <20 2 28 3 41
KLS 2 5LOTS L=1200 2 11 14 18 21 28
(0,0198) apt 4 8 12 17 30
102 1 21 33 44 65
[ <20 23 28 36 a7
KLS 2 5LOTS L=1500 Ve 11 14 17 23 34
(0,0248) ant H 8 1 19 a2
102 13 23 34 54 86
Lun <20 <20 2 29 0 43
KLS 2 5LOTS L=2000 Ver 08 11 13 17 25 34
(0,033) ant 3 4 6 1 2 a2
102 06 12 21 39 72 10
[ <20 23 31 37 2
KLS 3 5LOTS L=600 2 1 15 2 26 31
(0,0137) apt 4 8 1 23 33
102 12 27 4 51 6
[™ <20 2 29 37 8
KLS 3 5LOTS L=1000 Ve 12 15 18 24 36
(0,0229) ant H 8 12 21 46
102 23 34 45 63 88
[ <20 <20 2 33 2
KLS 3 5LOTS L=1200 Ver 1 13 15 2 3
(0,0274) apt 4 6 8 1 32
102 17 27 38 57 84
[ <20 <20 27 38 47
KLS 3 5LOTS L=1500 Ver 1 12 16 24 32
(0,0343) ant 4 5 9 20 36
102 19 28 47 77 99
[ <20 20 32 0 46
KLS 3 5LOTS L=2000 Ve 09 12 18 24 3
(0,0457) ant 3 H 1 20 2
102 16 32 63 89 109
[ <20 26 32 37 6
KLS 4 SLOTS L=600 Ve 11 15 19 23 3
(0,0184) apt 5 8 13 19 )
102 23 36 47 57 7.1
™ <20 <20 2 32 s
KLS 4 SLOTS L=1000 Ver 09 11 14 18 27
(0,0307) ant 3 H 7 2 27
102 19 3 a 58 84
[ <20 <20 28 39 47
KLS 4 SLOTS L=1200 Ver 1 11 15 23 3
(0,0368) ant 3 5 8 19 33
102 23 33 51 79 99
[ <20 2 33 42 a8
KLS 4 SLOTS L=1500 Ve 09 12 18 24 3
(0,0461) apt 3 5 12 21 33
102 24 41 71 94 11,1
Lua <20 27 35 41 47
KLS 4 SLOTS L=2000 Ve 09 14 18 23 27
(0,0614) vt 3 7 12 19 27
102 27 56 82 103 119
Lun <20 <20 % 31 39 50
KLS 5 SLOTS L=600 Ve 09 12 15 18 24 36
(0,023) ant 3 H 8 12 21 45
102 21 34 45 55 69 87
[ <20 <20 26 37 45
KLS 5 5LOTS L=1000 Vst 09 11 15 22 29
(0,0384) Pt 3 a 7 16 29
102 28 38 56 82 10
Lu <20 2 2 a a7
KLS 5 SLOTS L=1200 Vet 0,9 12 18 24 3
(0,0461) ant 3 5 1 20 2
102 3 49 77 98 12
[ <20 27 35 2 a7
KLS 5 5LOTS L=1500 \ 1 14 19 24 29
(0,0576) Pt 3 7 13 20 29
102 38 68 91 109 123
Lu 20 29 35 20 a 8
KLS 5 SLOTS L=2000 Ver 11 14 18 22 25 29
(0,0768) ant 4 7 1 17 2 29
102 53 78 10 11,7 13 14,2
Lun <20 21 26 34 46
KLS 6 SLOTS L=600 Ve 1 13 15 2 3
(0,0274) apt 4 6 8 14 31
102 34 45 54 69 88
Lua <20 21 32 “n 47
KLS 6 SLOTS L=1000 Ve 09 12 18 24 3
(0,0457) ant 3 5 1 20 31
102 37 55 82 10 11,4
Lun <20 28 36 2 8
KLS 6 SLOTS L=1200 Ve 1 15 2 25 3
(0,0549) apt 4 8 14 22 31
102 48 76 97 13 124
L <20 2 30 37 2 5 50
KLS 6 SLOTS L=1500 Ve 08 12 24 28 32
(0,0686) ant 2 H 20 27 36
102 37 67 123 134 143
™ <20 35 0 a a7
KLS 6 SLOTS L=2000 Vaar 09 18 21 24 27
(0,0915) apt 3 1 15 20 25
102 51 116 13 14,2 152
[ 10 <LwA <30 30<Lwa <40 [ aosiwa<so

Data valid for:
- Throw with ceiling effect

nolog
effective free area

|
hrow to terminal velocity at 0,2 m/s




